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44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000
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47° 0.7314 0.6821 1.0724

@)o.6821 @ 0.6947 ® 0.7193

@ 0.7314 ® 0.9325

1) tanx = C=D = ¢b = 1.0724
OD 1
x=47°
2) cosx = 2 _ OB _ cos47° = 0.6821
AO 1




17. o2 I93 o] 4C =90° 21 AABC 9| A
AD =CD =BC =3+v2°]1, /ABD = x &+
S off, cos x 9] BE2?

V10 210 V10

© 3 @ 3 310 ® 10
2v10 v
@ 10 @ 10

V2 BC =6, DE = AE = A_I; —

3

AABC oA

AB = VAC? + BC?
= V/(6¥2)? + (3V2)? i
=310




18.

ohe 1T 2ol LA 7F A 711 AABC 9] ZAH A o)A ¥ BC °f
W 4409 &S D 2 sk, D oA # AC of i A9 ES E
2} gttt AE = 4cm, CE = 6cm ©]1, /BAD = x,/CAD =y 4
sinx + cosy 2] g7

’

x+y=90° o2
sin x + cosy = sin x + cos(90° — x)

= sinx + sin x

= 2sinx

DE2=4x6=24
-~ DE =2V6cm
CD2 =6x10 =60
. CD =2vV15cm

DE 2 1
ACDE Oﬂ}\_] Sinx = — = —‘/6 = ﬂ

CD 2415 5
sinx+cosy=251nx:2x@ = Q_VE

5 5
A
‘4c\m




o2 193 Zo] 9 O of Ysk= AABC
7t 9 Y] A BolA HHA BT & 1
2 o 7= /ABT & x 2} 5}, cosx =
¢ AB=Gon 4, 209 ABE
EET

fi

@ 8cm @ 8.5cm ® 9cm
@ 9.5cm @mcm

~&B ~

COS X = %l O|B 2 ginx = g o|tt,
¥ 0 9 F25& ro]gt otH, x = LACB o] B2
sin x = % = g olB2 9] A& 2r = 10 O|t}.




20. the I} go] ME AB E X202
o] 3t 2|5 AB 9] Aol wH
/BAC = 30° ¥ o}, BD 4 do]=?

@ 3cm @ 3.5cm ® 4cm

@ 4.5cm ®)5cm

B

A B CE oo™ /BCD = /BAC = 30°
(ACB = 90° ¢]| 22 /ABC = 60°

ACBD ©f|A

/BDC = /ABC - /BCD = 60° — 30° = 30°

- BD = BC = 10sin 30° = 10 x % = 5(cm)




